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(F) WfF See ANFAEF Hegal wie | [Define partial differential
equation.]
(}) TTATET @NNT W TWIF ANFAER L@ wie | [Define
Lagrange’s linear partial differential equations.]
() @3 @mT S wTE AMFCA Twizaet Wi | [Give an
example of a linear partial differential equations.]
(9) @6 EfBale +» 9o & 2 [What do you mean by an integral
surface?]

(®) f(p,q,2z)=0 NFET FAFa 7o T &2 | [Write
down the complete integral of f(p, q,z)=0.]
®) F(r,s,0)=f(x,y) Q@A e @78 TR0 A 7, 5, ¢
wsl & F@™e [If F(r,s,t)=f(x,y) in any partial differential
equation then, what are meant by r, s and ¢ ?]

1
) 0 e [Hivaloae] o taniforg)

(@) SPTIfEs Q@ S Sese AT Aegal whe | [Define

non-homogeneous linear partial differential equation.]

()49 Rr+Ss+Tt+ f(x,y,2z,p,q)=0 ERIESEIT @‘P@%‘W R0Q?
[When is the equation Rr+Ss+Tt+ f(x, y, z, p,q) =0 elliptic?]

(@) TfeTEIR IS WP famifas #pierme™ Tiead® e | [Write
down the two dimensional Laplace’s equation in Cylindrical
coordinates.]

() «= W@F o7 TR 712 | [Write down the one dimensional
heat equation.]

@) I U=U(x) =, o= L{Z—U} @q WIF Fo? [If U=U (x)

X

then what is the value of L{aa—U} ]
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i TETF AN

qTq 936 e (AIT@d AT [T 9 AW x, y,z THQA ©
FOORHT @A «HFA TN | [Find the partial differential
equation of a family of planes, the sum of whose x,y,z axes
intercepts is equal to unity.]

z=f(x*—y") O TRV T AR TGN AT @7
RF 7o 9 | [Form partial differential equation by eliminating
arbitrary function from the equation z = £ (x* — *).]

x(P =) p+y(—-xH)g=z(x*-)*) THF wETF TSR
et A W 39 1 [Find the general solution of the partial
differential equation x(y*> —z*)p+y(z> —x*)g=z(x* - ) .]

NG TRTS TP TJIZRE F@  xyg + y°q = zxy —2x° g
WIS AR LRe T {7 32 1 [Find the general solution
of the partial differential equation by using Lagrange’s subsidiary
equation xyq + y*q = zxy —2x" ]

2z+p> +qy+2y* =0 a3 % @w fafs 91 [Find a complete
integral of 2z + p* +qy+2y° =0.]

YN 4 [Solve]: (D* —2D°D'+2DD"” -D"*)z=0

Y S [Solve]: (D> -2DD'+D")z=2x+3y
IS 9 [Solve]: 4r —4s+¢=16In(x+2y)

et
9F G @R APE w@wE AP P +Q, =R, AN
ST ) PG afe TR &l F9, @A ng—z,q=%;
X

P,O,R TN x,y,z @9 ¥ | [State and prove Lagrange’s
method of solving the linear P.D.E. P +Q =R, where

Oz Oz

p=—,q=— and P,Q, R are the functions of x, y, z .]
Ox oy

(F) 9T T TGS (PICFA CT6F WPF wws Twad efy 7
JE F z SCFR AL TN9ifo® =27 | [Find the partial differential
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equation of the set of all right circular cones whose axes coincide
with z -axis.]

(}) DRIFG *afS &N T zpg = p +q NART 9F SARFE =K
S AR A% EfBarte faefa F9 1 [Find a complete integal of a
non-linear partial differential equation of order one zpg=p+gqg
applying Charpits method.]
S ¥ [Solve]: (i) (D* —2DD'-15D")z =12xy

(i) (D* +2DD'+D"*)z=e>">
IM F(D,D)z= f(x,y) €& F(D,D') I D 8 D' & n, qCoq
STIfas I 2F, ©ICe Particular integral eftzm @6 ArgRe “afe
oeerest ¥ [If F(D,D)z=f(x,y) and F(D,D') is a
homogeneous function of D and D' of order n, then discuss a

general method of finding particular integral. ]
A 9 [Solve]: (i) »+s—6f=ycosx

(ii) (D’ —4D*D' +4DD'*)z = 4sin (2x + y)

o S e TFeBes FAie W FAST 9 9R 97
YR AL T F9: y(x+y)(r—5)—xp—yg—z=0 | [Reduce
the partial differential equation y(x+y)(r—s)—xp—yq—z=0
into canonical form and hence find its general solution.]

ou o*u

5=26—2; u0,6)=u(4,t)=0,u(x,0)=3sinzx —2sin5xx,
X
0<x<4,t>0 ST TPHIG 5o IR0 F@ors AT FF |

o’u

[Solve the boundary value problem % = ZF ; u(0,t)=u(4,t)=0,
x

u(x,0)=3sinzx—2sin57zx,0<x<4,t>0 using separation of
variable method.]
2
mﬁmwwﬁwmﬂwg—jﬁg—f;
X
u0,H)=u2,6)=0,t>0,u(x,0)=x,0<x<2 4« SNEF T |

SIRE A REE R NE ()

[Using the Fourier transformation, solve the boundary value
2

problem 66_?:36_21; u(0,)=u2,t)=0,t>0,u(x,0)=x,0<x<2.]
X
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